REER (B&Ek (KHIHKK) )

| THETAT 4 | gL |
[#EERZI |  20:20 |
EXA
X% =8 X B
EXLUREEER 16,917 A 17 417 N 34,334 N
BEER 10,225 A 10,791 A 21,016 A
MR LRREEH 5333 A 5512 A 10,845 A
HBEAREER 4,842 N 5228 A 10,070 A
TEEBREER 50 A 51 A 101 A
ZIEEH 6,692 A 6,626 A 13,318 A
BEE 60. 44 9% 61.96 % 61.21 %
=45
X% =8 X B
EXLUREEER 10 A 17 A 21 N
BEEH 3 A 2 N 5 A
MR LRREEH 0 A 0 A 0 A
HAAREEY 0 A 0 A 0 A
THEEREER 0 A 0 A 0 A
ENSEREER 3 A 2 N 5 A
BESREER 0 A 0 A 0 A
ZIEEH BN 15 A 22 N
BEE 30.00 % 11.76 % 18.52 %
ERN+ESN
X% =8 X B
EXLUREEER 16,927 A 17, 434 N 34,361 A
BEER 10,228 A 10,793 A 21,021 A
ZIEEH 6,699 A 6,641 A 13,340 A
BEE 60.42 % 61.91 % 61.18 %
EHHEL gL
BEES | 096-232-2111
EERZ 20:26




